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~@Vocabulary
|I. Two-step problems ask two questions.
To make sense of the problem, look for a hidden question.

Alex has a box of 250 nails.
He uses 80 nails. Then he loses 35 nails.
How many nails does Alex have left?

What is the hidden question?

2. Mindy walks 450 steps every day. Today she walks
|45 steps to the barn and 187 steps to the pond.
How many more steps will Mindy need to walk today?

What is the | i3 £ BRI 4

Solve the hidden question. i i-} + =
the number of steps Mindy has walked so far from
the total number of steps for the day.

et _ more steps

On the Back!

3. Ria walks 775 steps a day. Today she walks 325 steps to
the park and 230 steps to the pool. How many more steps
will Ria walk today? First, solve the hidden question.
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